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1. 5iin every lourih seal as directed. Bt in your assigned area. Al books and papars sheuld be maced an
The oo, MO CALCULATORE ARE FERMITTED

PRINT CLEARLY gn this cover shaal, Yeur name, seciion ¥ and (355 name.
Lesanver yowur e face LIP. Whan teld to begin, check your axam lo see thal you hava all of the pagos.

4. Fiaad al questions vary canefully. I you have 8 question, rlse your hand, A GS| wil
help you. Tha GS1 wil_npt gve you the answer or explain scienlilic bemms. Trivial answers will not

recewe credl. Each multiple choice queslion is worth twa painls unless staled cthamnviss, Always pick
the cre basl anewer,

f. Do niat 16l dunng the axam, The ssam & dosed Baok Ho caloulador is necesssny, nor penmsitad
. Use a ¥2 pencll for B scantron form, ERASE ALL MISTAKES COMPLETELY AMD CLEARLY.

ﬂmluxlmmnahuunﬂhnywnrdﬁnl I &, and tha ksl tvear digits of your saction rumber bolow
Tal. Bubble in the appropeiate rumbers to the ot as shown i te exampks baiow,

i KD

Your SID goes into tha

N r
Efl= mlim o'y A3 ad= cfs cfla cF3 c@e ol

= 1
EQ3 CN3 e rlc cd3 CHI eBa =Tr tlla OB wate |2 first 8 boxes, from fop 1o
FRZ cfe ely ml iz cBa= ofio o3 @3 s 15} 3
- edal cE3 EXT ek rEz . clia cfo cmlh o | UMEER [ 3 Botiom. {-El.ﬂ. 12345&“}'
=0y cfla s e¥e od: sl cfic :.:ra vl@lln c@a HEAE -.-.Eu.
e e e, (8] The last 2 digits of your
R TR T T I TN T O =T I:'Hli B secllon number goes Into
fulm ci: &R el cd3 oA £@5 oTe clBo c@o| gben | O [ the bottom 2 boxes. | eg.
€02 &1 wk3 cP1 £d3 <8 sB1 wlw CPo CQa MEFE [T | 071,
B, On the back of 1he scantron, peint your name CLEARLY In tha space provided. Print your GSi's name
in plass @l “subjsct.
g. ¥ should have 9 numbened pages. Tha exam @ worth 150 pt's. You have 80 minuies. You A WOIT

PEMALIZED for guessing! ((GUESS EVEN IF YOU NOT SURE]

0. LOCATE ¥OUR SECTION. Tum in your SCANTRON form 0 the SCANTRON ENVELGRE and your EXAM fo the
EXAM ENVELOPE fior your section. ¥OLU MUST TURN IN BOTH of wlie you will gl a ZERG,

11, WHEN TOLD TO STOP- STOP! Bubbie in guesses BEFORE THIS TIME!

DD HOT BEAD OM WAITE BELSW THIS LINE TODAY. FOR AEGNADE WSE LATER!
Regrade Instructions
To the Student:

Plosss revwiew your regrade requests with yeur G351 gt oo make sore Sat the requiasts sw wabd | the
Fequas! = valld, please wrile your request on ®a Back of this sheel. Your 581 sust then leitial it (GSFE nesd o
intial requosts—oifvrete, eguesl will nal b rEa

¥ou may request_up B0 3 queslions only to be regraced, Additioral structions are on (he back of Bis

Al regrade roguedts are dye Thwsday Auguat st by 5 PM bs tha saibos ouisida ol 20688 VLSE. i L.
na megeading!|

e azat,
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1. All if the following are tnuae of both eukanyoic and prokanyobic owll EXCEPT:
A Possess organeies.
B Uilize erergy.
. May have Nagala wih a 9 + F misehtedis ulimasiracium,
0. Maintair hdivseos .
E. Corfain phosphokpcs.

2. The characterstics that delingu shés. Bing meatber fom non-dving orotier
A, nesull bom the amangesnent and interaclion of comgonent parbs 1 lower sinuchorsl kel
8. ae emengent properies of [fa.
. are possible bocaios |ving syslame posssas DHNA
C. A, 8, and C ane all coreoect
E. Only A and B ane oormect

3 ‘Walm's high speciic heat is mainly a consaquanca of tha
hmmummrunuurmumwuﬂnmmmm
<, =mal sire ol P waler moleoubes.

. kigh apecific haat of oipgen and hyalngen alnms.
A0 facd thal water is & poor haat conductor,
JE ivability of watnr o dissipabe heat imio dry air,

4. A compaund comtAife pdmed groups s it predomnant funchonal group. 'Which of the tollowing slalevanis is
e COMOErTING This COMpound T
#. K iz probably & lipdd.
B! & should dissolve in wakr.
. Wshould dissobie in @ norgole sobanl
B Hweon'l borm hepdengen bonds. with el

E. iz hydmophobic.
Ltk tha faliowing chemical siniciures 10 answer quessons 5.6,
Hwp ~0H How elCh e o 8
=0 H—E;—Cil-l =il
3 VD €
-H HO— —aH
H=4L<0H I-'|—||'.-—liﬂ-'| —0OH

5. Which of the foliowing is a correct statement descriting the relaSonship bateeen mokeculs | and 117
&  Euoth sre sldoses and sineclural ispmers.
B Baolh sre kelpses and sinclural ispmens.
G, Both are aldoses and snanSomens.
{1 Bucth am ketnses and snantiomens.
E. Pord gl fres o biren iy coamen.

B, Which of tha klkvwving & a cormid alabsman cordamng moleculs 17
(A W and I &re srusiural sermiar
B N and | are enanisimas
C. W and 11 afn ersanlicamian.
0. Both B s © ffe o= S0 lafsnis
E W is el sy ibciveis of &b | 5o 00

T. Amolacids with the amcal tormuls CoH 0N, m most bkely b be
A a nudeclice
B an hemoes. .
A, 8 fally pcad,  L-o" 0
‘B, & dipetick
B & dincrtoride,

U —— e



B Whal ig the sirucisre sfean abovp 7
A 8 starch mokeculs
‘B, o sinoid
H prihsn
[ A falluboss mikiy
E. & rudeicackd polyimer

B. The lormaton of polymers & desorited
. L - &3 an example of
B. mtadg e
C. apcive i,
D hydrophilic inberactions.
(E) anaboksm

Lig o Ug—tp - il == [, oy iy

1 Jl.i'ﬂlﬂlnltij-lﬁﬂ_ﬁﬂ'l!lmmlm[uummwwHﬂﬁﬂDﬂﬂﬁMHMMHmﬂt

The meuling digoascchande would have the donmula
(B Cyghigalyy - o

B CopHgelyy rge M T
C. oty o OF

Do Gl .

-

E. CiHamily, L
(R
1. Al which braal of prolsn sinuckia see inleractions Esitwwen K groups MOST mportani?

A primary
B sscondary

¢ tertary

[ K] Py and Sedndany

E. They are mporiani & sl leyeis

2. What lawals of protedn Siruciune ane found in ALL proveing
A peimany and quatamary g
B secondary and sersiany
C. primary and isriany
0. primary. secondary and lariany
I-'__':'uprirrﬁ‘_rmmy

13, All of the foliwirg are found in D0dA EXCEPT
[PRLT MRS,
rbose  Aony
. phoanain A
E. thwmine (3

14 Tﬂm:nfrpu Talloreaing weondd most Ikely HOT be dound in & prokarsolic ol 7
E: rbossmias
hesnonas
. phosphabpits
E. rFra

U |
|||l'|:|'




15. All of the foliowing ame part of the cyloskeleton EXCEPT
A tubulin
B. actis
C. microllawants
L ceninio
E. kemlis

e

For questions 16-19. uss the letemed answers below 0 malch ta sinuciuce 5 6 proper ool ivoe.  Choose 1he most
inclusive CRlegery, Each answer may be used onon. mana (haa ongs, or ngl 59 all

A siruchers @ found in &l cels

B siruchems i lound in sukerpolic cells only
C. sinackss ik feund m prokansois cells only
0. siruckes & ldund n plan) colls only

E swuciung is found in animal cols only

. Psma membrane
1F, Golgl bodies

18 mitolic spinde -,
19 Genlnokes 2

20 A Edus aemple B ground up and ceniriduged. From ta palael in W e lube orgarelne ares isoiaked and purihed.
lrﬂﬂﬁhﬂiﬁlﬁuﬂﬂ}mmmmn pernaide is added o iherm Thass Grganeie sns most kel
el ak
B. smioolh ER
£ peronsomas
D lyscsomes
E. Golg bodes

1, Which of #he folowing proieins most Ekely wouki NOT hawe beon syntheszed on a bound ribosoma 7
A o rarmpor] protedn in the plasmia mam b e
i, & ligase m e lumen of 3 lysosome
C.)aCa" channsl in the smoodh ER
-ﬂ-__EI pEra prodein in The nudes svselopo
E- & dahydraganaes furcioning in ghyoolysis

Z2. A ondl specialized for tha witake of sagar ang s comeersion inlo polysacchande coukd ba axpeced ja have
A alarge rumbar ol rbosamag
B. alarge wokma of raagh ER
C. alange numbar of chloraplasla.
a large volumd of Mmoo ER. - o repimba it

23 Mommal mitosls lakes place in o diplid coll wilh ganciygs a+ia ; beb. Which of The folio R NITpich. g
possibie daughter calls? -

24. Which of the foliowing Is a chamacenissic faaiure of & camisr probein m a plasma membrana?
A° Itis a peripheral membrane: prolisn.
(BN exhibils a specificity for a parcular typa of molecie,

. W Is symemaetrical on both sides of the phes holpid bilayer
O ®works against diffusion.

B has few, if any, iydrophobie aming acids,




25.

n

All of thee folowing celular actvilis requine ATP energy EXCEPT
!n::l'-!lmtl:ﬂ'ﬂ;. il e el
E _prolmin mmihsks
E.' Mz lons moving out of the cel
+ Sioplasmec seaming
B axooyinsis.

Tha hinds of moleoules thal pass through a cell membrane most easiy ane
A large and hydenphobic.
"B srmall and hydrophobic:
AL lerge polar moleculas
O ionic.
E. monpeaccharides such as ghacosn,

. Thia lu mesac model of membrana Sinaciurs was propased by

A, Sehlsidan snd Sohmann
B. Usgar and Boven.

G Bangar and Micolson.
0. Morgan and Skurervani,
E. Dasxson sl Daswaili

Wihech of the folicwirg would decraame the sntropy within @ syslem
'-.ﬁ.-l:-:l'ldunl.ﬂ:imﬂr;nnh- . i
B hydrolyss T
. respiration y : ,-""'

B, cigesion L
E catabolism

InCreasing P fasksirste concaniration in an finalic: o wih
y dt'EnIuﬁrquunm ey red clon could ove which of i telicawing ¥
B-.. ol wbsalan
o compeblioe nhisen
0. noncompedit v shibdien
E. n=uMcienl oofactons

- Which of the following reackons @& endengonic and could be coupled o the madion ATP + WO 2 ADP + Fi?

(Fres enemgy of reacton given in parantheses),
A A+ P AP (+8 koal) o

B B +P <% BF (+8 kzal)
C. CF 3C+P [ kcal)
0. OF 3D+ Pi-10kal)
(B E+P - EP [+ koal)

Wheohs ol 1hed Fodllireen ) slalerments reganding enzymes @ FALSEY e
(T Encymiad privic aclivation erengy for the reaciions ey calahge, 15 LAt
B. Enzymas am usualy proisins Tt function as T
. Enzymas display speciiaty for certain molecules ko wihich they attsch, T
O Tha activity of nryrmés (an be regulaied by fackors in thair immediste smimnment.
E. An ereymd miy b usied many limes oser for o spocilc et lion, T

32, The cordormabional changa i i shape of the scire sie during binding of & subsirats s relered o as

A. cooperivily

B, allosteric regudation
irducied T

0. colacior binding

E. aolivaliom




2 mﬁlﬂ:mﬁﬂ 3.2 % 107 M and the Ky for enzyme B is 5.6.X 107 M. Which of the following slatessinis
i

E‘ Erzyme A has a grealer a¥inity for its subsirle fan enzyee B bos for iis subsiaie.
% Erzyme B has a groaler a¥finity for ils subsimie an aaeyme A has for (s subsiaie.

Erzyme A has & grestar lumawer than enzyme B, sk sl
D Erzyme B doas sl bind ibs subsirale as svongly as anzyme & R
E. A, C, and D ara al e, g v ey
3. The enagy source that dinctiy drives ATP synthesis during respiratony anidatve phosphoryation @
A cuidation of ghucrss 8o COE and water. - H0L T L3 e
B the thermodynamically bavorable fow of electrons from NADH o the milochoncrial elecinen inanseorn - LG
T, i

A2, e final ranshar of slscrons 1o oxygen.
D the diference in H+ contantatons on opposibe sides of the Fner mitochondrial memirans.

5 ﬁﬂapu-mmmly Leretenbin Iransfer of phosphabe from glyealysis and Krebs oyche intermediane mabicuns

as ATP made cunng fermentation s genamind by which of the foliow
Tl& fbsirate-laye] phos phorplation -
2hacirdn brare por
CFaRiThiCes I
IEERry
oobdalion of HADH

#‘hﬂm'ﬂﬂwhmwwﬂmum b Witsir in the cell is this erzyme localedT
A in the thylokoid i S
B, m e imlermembioana 4368 in miochondria
AL i the chioroplast
D¢ _in ihe milochondrial matrix
E in tha sroma

| AT, Supposs & yeas! coll uses 10 moles of guctss ke srangy producson. Mo oxygen s avstable. What will be e
" manimum gl yiekd of ATF In malkes? B

L F
15 |'|-'||a|:l.i' =% A0
e 20
0 o ipuieEd = 2
E 3

'ﬂi- Chring perobic respiradon, which of 1he follgwing drecly doralos akclonm i0 1he slecign tran e chiain i P
I crovses | erengry el 7
AL

3% Tha cmplels secobe resplrabon of sucross, & distchands of glucose and fruciose, o of malioss, a dsaccharide
ol b Jhaxass molegules, would rokase mdincies of 0057

= o TN L 3
' |
L™
i

L
K
1]

mPp e




- Lis filicenng chosces for quistions 40-48 with rederencs to photcsynifesis. Each answer can be used once, mons
than onca, o it ai Al

A, lrrnbeis pholiceystem | only

B. lwokes phobiosysiam Il only

. Involees boih pholosyaiem §and 1|
L. Coours in ihe Calvin cycls

E. Does mot poowr in phiicaynihesis.
40, The reducion of waier, B
41, Production of NADH. [
42 Linear sieciron fow C
43 Cyche eloctron flow. 757 o' A
&4 Paricpalion of opclochrome coda s B
45 Cwidation of NADPH, D

A, The deciion for b call o enler minsis |5 deleminad &1 tha G2 chackpoin! by 1he interacions of
achin and firpdsin
(B Cdu and cychn PFT
¢ ligand and receplor
0. ubulim
E. cAMP

47, ‘hich o the following is NOT oo of ssler chimabds
A. Thiry srian by repiication during S phase. T
B. Thiry degragaie from sach offer during each mitolic snaphass, T
ﬁMm&HMmmnﬂhmmeT
0 Thay sagrégale fnom sach olher during meiosis | & +eiveds
E. They ang joined daing prophass and metaphasa &1 fair 2omemen centromens. ©

48 In an organism wkne =10, Bow many geneically unigut galas could be generaisd by Mekssis (a5 no

|
o

4. In which ol #w folowing prases da canimmeres dvide and sster chmmatos sepanmin?
&) il snaphasa
B armphass | of meioss _
G ansshass || of mekosks et
D0 A e C pew comect
E. & and B am comesi

50. Syrapsis of hamologous chromosomes Ooos in :
A& proghase of milosis r-=|""‘*1 I
E promataprass of mioss
preghass Il of meiosis.
0y prophass | of meiosis
E maélapbass | of melosis




Pari il
Fill in s blarks with the most appropnahs weed o phrase for the defmiton or conoept (1 pl each)

1. spdeogbr® pord #4  Accounts for water's cohesion, surface Lankion, and high specif fesl.
Z J-lna|-._.-'-r-l:l|:|IJ"r'H'I'E."""‘Il _ Hame given i the type of covalent bond Thid lnks teo rodeolces.

.| *w.rli:ﬂm-w-'-"""‘llr  The area of 3 sukaryalic oo beksesn nucld and plasma membrans
i ponIeTEDrs  Prolenussd in builting fa intemal ulimstruches of lageiia

g fijil MR 'ﬁfq-:.r Rk hmﬁgmmmummﬂ wdvich Fae nucheolus Minma

f. . 1&?-:_ - Wecharism bry which chemécal signabs fee ¥ansiomed acroms the plassa mimbrane
EFE v T i ief@ction of membrares prolaind, resuling n the scluason of 8 Seoond
mssgar irside (he ol
7 m?nh:ﬁ PMame of SPUClFD in mesosis wham nor-sisier chromalids are nalal and crossing
Crafal DeDiENS.
.-1&_ l,L
& _Twmmﬁmm |derived from ghaccsa| prasent al e end of the anddgy Pwesimend phass
& of giyoolysis.
: PEF rapprgids @ Enzyme thal nifmly foes GO in CAM plants.
W ik inRkEOT e Erhanamanan whane gndprocuct of p metabolc pathway is an alicsterc inhibitor of
_..--'i"" an angya iar the beginning of thi patrwaly.
| éa"lﬂn ke bDEr % Profein aifuciane at the cenfromanes of MNoto chromosames 5 which mioeoubules
Ernre].
1z goebon (ersek  Component of pholosysken which passes slecirons an L3 [ primary slecinon
RLDepinr.
13. porg £y ndhe r  Faillure of Chrormoscm as of chromabads ko sepaale propery dunng e,
1, PrTH iy Condition o having cnly one copy for 8 parkcuarn chromosome in 8 nomaly
L o i CAGAN ML
14, achi goed jrr“n‘uluﬂmﬂnmﬂ'uinhwnﬂ:hWﬂwﬂﬂrﬂ"mwlm
vigarinly Capimsing musch cals.
Part Il

1. (X pl=) A complereniaion sl was pedomed cn 7 ristiding negaliem strains of & parkoular species of funged 12
detmrmive i fumber of genes imvshed in B synihesis of histiding, From The data below, what is the
miniman nuim b of Qenes imeniyed in B paifway 7 For sach gana descied. 151 all strains with mulsion in

that gene. Show your work below.
11 2] 3] 4|51 617
I.I'ia'q - | |]F1'.F_ -1 gy = + a - E <
i = * i ¥ +* =
I'lI 1, - | ent 3 S . - e
g - + + +
5 =5 | gerd 5 : : -
h TR . 0 FeAT
. : 7 - | i
i = : = grd b oM |-.-r-n'rl"-"|:' e
- i g4 fail 40 rl:-urfr'rr-r"_.-*-'-' bt SAWE ypa RO
1 ful |
| = 2
. L S




chemosomes and the tetal number of cheomatids presant. Al ke sach stage. siate the gmaniity of DMNA& presani

@ Z  [4pls) Human somabic cells have 46 chromosomes. For each of the folioeing stages, piee T nurnber of
*hilive 10 that of @ gamee (1x. 2x, 3x, efc]. Assum thal cals in telophass hawe undengones Cpiokinesis.

(STAGE CR T r—— ¥ Chromalics Dfs
| |, medabs melapracs o ks ._.p-l" Fod
b. metaphass | maioss: o - e e i
e e AL L e
d. wedoohass Il mspsis: i) | i%

= - e :.-

I+
3 (4 piE) Pairwise crosses seee camed out bo detamsing the genatic distances betwaan (he e genes lisind telovw.
;J_h"" L!!lhmmﬂlﬂ.ﬂmﬁlﬂmmHudmmumnﬂjhmg|r|-up-|-|:-puinnn|nrrﬂngmm
distancy betwean ihese ganak (on the chromosome).  Shaw yoar work Io Fe righi.

gane par | % mecombinalion | |
0w £
d ]
d b ]
d & Eurhiinizs as f unlinknd
¥ G -
v b 14 -
¥ 1 10 [ LR, R ! 14 LY
I 24 * - . L d
= b 24

4. |0 pis) A 1&-arkon dipepide is deamnated, processed, a0 eniers ooluar nessiralion a5 pyrirealn amd Acal
Cod. Only twis malecules of pyruvaln G consinpcied from the aming acid. The rest of the carbons an b :.tiﬂ
acatd-Cod. Answer the following questons with mesgec 1o the com plele axdatian af e indicated mol souke

’ pr 1 pyruvata par 1 AootyhCod, | Hwelon == 247F
— ....'-.# HADIH = -+ : & % i ERL AT
:FFAEI-IE . \ 1 P g Ry R
'||:{.::->' 'l ATE by subsirati kvl (hosphoryiason) . : \ ﬂ:.,:;.. suATH
BATP [y cxadalia W . \;% "'H.".Ir 2 r.- il

ey 2 hTp

(2 pts] The total rumbser of ATP generated for #a complete oxidation of the Spestios would te ﬁ TLEY
(hare weork) :

# N - 3T

L
2 popwuate gl 3¢ prowrule ) S4TP T
: '|Il-'.||r\.' bri

|
=i
" -“/ 1 abwnE A L j e pyRuake

Ih - i
b= Bl s prewied =% 72 00 A ¥ b eyl Tad o 1 P BLETYLED A,
AT i
a el |
REERH PRN ¥ 9 FENRD _":;- L |:|”H_|l il & i_uj.-
& toh 54
e i pievikit  dyapstat w3 12
(-.l, \ | mditesip i '_1_.
Fl'"'-l"':'F = | TowWe s
greiiooh. 3 wappeut a3 =00
i FATIHE 2 = &
i rr.\_.u'li =




L e ldom b wiy = e ® [}

]
5. [6 pls) In Cule piplens [ mosguits). apricot eys is dominant Io il '
Whils wing & & aulosomal racessive mutant. -ﬂnﬂpmﬂqﬁdm-w..m o [Brown) and i an X-inked trait

ik mated with
e A I'I'I:l'm:u%. d resde fwid type| with white wings, afss from a frue- ook Giver this cross,
A Using proger genelic nedalion [develozsd far Chrosopdtilal, wiite e genotype of the P male and lemaie.

-':"::h- Wi Y - wa
‘f@ 1-_?::' S —— + :':..- ] ¥

"j ndta . il L
I:+!'rra'r“|
Pl .
g\l I;:-_l"' 1 H_._;:!.u:‘ L;" ] w—:"l_llkt- TRdld ] pprMm¥ BT 4 weildl +dpE W g
3 A -
1| Feamse - pyproi i rpes

¥ ushd 9w

c, Hhﬂmunqmﬂﬁmxﬁhm whal
e wiki-type or bth bralis ¥ Shive your work, : T MR 1

(15) ARG S @ -

¥ A M :'li" O al = "? r % %HT:F i _I':'-
- 5 5
xR wild vype %u -
- o I.r\.l.l"' L
it wutr ot Ky . iy — wld spe o
2N e e :t:r |
bR e 2 ] Y oer o
B 7 pis) In mice 8 is a domirant allele that dalermines o) m::thﬁ-i:lun e white. But for pigment In

be produced at e, P and M, bolh dominant alees. have |o b prdcsent At beo othar 06, A whise

alhﬂmhAuruﬂmmganmm:mnmmm BEPPmm micise . e
Hud&dhmnndﬂimmgha:uﬂ;uraummﬂm:mmm. s

Ay What is the phanolyps of the BESFPem mouse? LD L e Y I T T M anvete

B Giwan Ihe cutcoma of the cross, whal i the genctype of ihe cther mousa i
: [Sharw work and mibs imlo accoun B
pheroby i ratios in o oftigeing. Tmmﬂfmmwurhﬂbjruudrqﬂm
squarna(s| and mdicate yor
mﬂqhmnlhhmuunnmm.ummum. “WETE WSt by s Y sormewhere ":I'f.

Bt TF pw & B Ty MM i
— IPE g boTe

1 TruEr b T II i
ap Bl - I__.._l ¥

]
w¢ pipepring wal] gl s pawe
o 'l

pe Bh T 7 W B WAy | dayeirans T

B pp Hm - BEEPLE o whee 7 e o 50

5 i Al Joye e

Bk Fr B
B EB | e r I | H "
" EI’:" 1 Tr_%ll “‘@l
1 o al\ dann =
2 peene 2
A e a
w1 '2.-
: i




"""'“'.f"' Lhi- o

S TR T X
Answers Exam 1 Bio 1A, Summer JH2
1 A | 11C | 1da | 24E T J1A EX: [ 41lE 4688
! Fi %) 14dcC 178 240 X, [# adc 3 AC 42C 47D
A [ [E] i3H 18 23E g 4368 JHE 4 3A 4 8
- WoE 14C 19E 240 2HC 40 39E 4 dJE 4 a0
D 10a [ER z2qcC FED 3qE ED 40E 490 |sdo

Mubliple Chaice: 1) Fro & cuk have different flagellar siructare. 2) C may b tras bub iz isn't requancd
#: answer this question. 5) enantiomers dilTer a1 a chiral C 12 All proteins must have primary an
weriary ban nod secondary (alpha helivbeia sheeix), 13) DINA has decxynbose 14) p obes lack
histone profeing (DNA packing), 18) eukar have spindle, but oles dont 193 plants lack
centrioles, 21} cytosoli mbosomes synibesioe cytosolle protcins I2) sugar metabolesm = SER, 15)
maovement of gases sirictly by diffusion, 35) ATP in ghyoolysis is via SLP, 38) PADH2 is kower than
MADH (X ATP ¥ 3}, 3% 12 Carbisis = 1200240 & 4] :IgzﬂEEE reduced i H20 in p:lli:ﬂ":li-]l'l'lllllﬁi-.ﬂ.

i

H.I".[P_]H gets produced during phycolsysisfnehs eycle, 43) = anly P5 1, 44} cytochrome oxxduse in
it ETC

Part II-1) Hy bonds, ) . 3 cvinplasm {not cytosol), 4) tubaalin, 5) moaclealar
crganizer, G si transduction 71 chiasma, B F 16 P or phosphoghyceraldehyde, 91 PEP
carhoxylase, 110} Feedhock inhibition, | 1) kineolchors, 12) feaction center, 15) noo-dispancisan, 14)
miiosoy, |35 leetic acld fermentation

Part III— 1} 4 pis, 4 penes as follows: 1,7 & 4= | gene, 3 & 7 = amother, 5 = another, 6 = anather. 2a)46; §F;
4%, Ib) 46, 924X, Xc) 46, 46 {or 09, 2X. 2d) 23, 23 for O, 1X. 3) onder and distance is d (4) c (24) b (14} ¥
{1001, 4y 152 ptfbox. per | pyruvale = 4 (NADH + H+), | FADHZ, | ATP (SLF), 14 (C). per | acetylood, =
F(HADH + H4), | FAIDHZ, | ATEFSLPL 11 (0P Moie that all of the MATHH 4+ H+ made 15 in the m=ifs and
nist in the cvtiosanl ("o ranspoftateon costs™ L 3 ATRNADH + H+ and 2 ATRFADHL. 18 dipepide: sachls 2
ijm:whi:hﬂll beaves 12 C jcachZZ X 30 =6). The samber of ATF so faris 30(2 X 1S5 12C :||"IIEIII:|5-fI
pcetylCoA malecules (6 X 2 Ch and each acely oA viclds 12 ATP. Therefore 6 X 11 =72 ATP. Total =72 +

IN= 102 ATE, SA) XAPNAR, whiat = the female 172 pt for cach hamalogous chromosome {X's and the
auiosomelk XAPYY: wiw = the male 12 pt for each homobogous chnomoesone (X and Y, and the amosome ).

3 radhs = 1z1 IAI“ p— B 5w uperml
L XA, w (apg) XAt wAR . gigt A NAP A ; whiw
phenotype = AT, w4 Clenale) phenoiype = Ap, W (male]

507 The answer is all females will bave Ap eyes because the Male will donate XA 10 females (see the males
in the abowve boa for the Punnett sguoane ) aned the Ap is Sombnesd, Therefore no femakes will be
heterogygous Tor both treits. You can ignore the aubosome becaus: 0 X sy mamber s 00 64§ whie

6B 1) mouse is B, Therelone 304 of the oftspring will have B phenctype [F-L-Inrﬂiulh beirwn mling upon
the pther Joci) and 174 will be white independent of ibe caher leci. So far we have 394 B, LM b, { Ipi)

k) mosse must be heteroaygous or homozygous M in oeder 10 produce aey phgment (if it was mfm then you
would never pel pipmest),  Half of the reasoming. 'We need 1o dedermine if Mo or M7

igi) His either PP, Pp or al the thind kogars, The mouse is while im phen son il must be ppeoor el i
oouldnt be while. refore 50 Far we know the mouss is Bk pipoor or bAfm.

ivh 50 we have B pip, M X BBFPPmm. Since the individuals are heterozy gois for B 304 of the oflsprng
have the B ype and 14 have the b phenoiype. Al would have the P phenolype; saince all offspnimg
are Pip (pp X PVP). Back to the M7 situation. I the imdividual is MM then all affspring would he
Wi and tey would all be able v make pigmend. Thus W4 X 1 X | should b beoan, (B phonotype, P
phenciype. 3 phenotype ). : : £ :

¥h This docsn't fin the daca bl M does. Mim crossed with mim yeekds madiveduals wigh M phenotype L2 and
m phenotype 12, The ouloome is summanzed belovw,

Thus 34 (B phenotype) X 12 (M phenotyped X | (P phenotype) = 34 wonld be braown

Thus 34 (B phenotype] X 12 (m phenctyper X | (P phenotype) = 38 would be white de 1o mfm.

Thus 144 (b phenctype) X 112 {M phenotype) X 1 (T plzaotypel = LB would be white doe io b

Thus 184 {b phenotype) X L2 (m phenolype) X 1 (P phenotype) = 178 would be white duc 1o b (& mimb




